

۱۴۱۵

$$\lambda \cos m - \tan^r m = 1 \quad [0, 2\pi]$$

$$\lambda \cos m = 1 + \tan^r m \Rightarrow \frac{\lambda \cos m}{1} = \frac{1}{\cos^r m}$$

✓

$$\lambda \cos^r m = 1 \quad \cos^r m = \frac{1}{\lambda}$$

$$\cos m = \frac{1}{\lambda} \quad m = \left\{ \frac{\pi}{\lambda}, \frac{3\pi}{\lambda} \right\} \Rightarrow \text{مجموعه}$$

$$\omega \sin^r m + r \cos^r m = -r$$

$$\omega (1 - \cos^r m) + r (\cos^r m - \cos^r m) = -r$$

$$\omega - \omega \cos^r m + \lambda \cos^r m - r \cos^r m = -r$$

$$\lambda \cos^r m - \omega \cos^r m - r \cos^r m + r = 0$$

$$C \cdot S^r \frac{r}{\lambda} = \frac{1 + C \cdot S^r m}{r}$$

$$\omega \sin^r m + r (r C \cdot S^r \frac{r}{\lambda} - 1) = -r$$

جمع در عبارت ناشی معضلی خواهد بود

$$\omega \sin^r m + r C \cdot S^r \frac{r}{\lambda} = 0$$

$$m = \pi, 0, -\pi$$

$$m = -\frac{\pi}{2}, \frac{\pi}{2}, -\frac{\pi}{2}, \frac{\pi}{2}$$

۲-۱۱، ۱۱

$$r \sin m \cos(rm) + \sin m = 1 \quad [0, 2\pi]$$

$$r \sin m (\cos^r m - \sin^r m) + \sin m = 1$$

$$r \cos^r m \sin m - r \sin^r m \sin m + \sin m = 1$$

$$r \sin m (\cos^r m - \sin^r m) + \sin m = 1$$

$$r \sin m - r \sin^r m + \sin m = 1 \quad r \sin m - r \sin^r m = 1$$

$$\sin^r m = 1$$

$$r m = r k \pi + \frac{\pi}{r}$$

$$m = \frac{r k \pi}{r} + \frac{\pi}{r}$$

$$m = \left\{ \frac{\pi}{4}, \frac{5\pi}{4}, \frac{9\pi}{4} \right\}$$

$$\left[\frac{\pi}{4} + \frac{5\pi}{4} + \frac{9\pi}{4} \leq \frac{13\pi}{4} \right]$$

✓

$$\frac{1}{\sin(\frac{\pi + \epsilon n}{r})} + \frac{1}{\cos(\frac{\pi + \epsilon n}{r})} =$$

$$\frac{1}{\cos r n} - \frac{1}{\sin \epsilon n} =$$

$$\frac{\sin \epsilon n - \cos r n}{\cos r n \sin \epsilon n} = \phi$$

$$\frac{r \sin \epsilon n \cos r n - \cos r n}{\cos r n \sin \epsilon n} =$$

$$\frac{\cos r n (r \sin r n - 1)}{\cos r n \sin \epsilon n} =$$

$$r \sin r n = 1 \quad r n = \left\{ \frac{\pi}{r}, \frac{\Delta \pi}{r} \right\}$$

$$\sin r n = \frac{1}{r} \quad n = \left\{ \frac{\pi}{1r}, \frac{\Delta \pi}{1r} \right\}$$

$$\alpha = \frac{\pi}{r}$$

$$\boxed{\tan \alpha = \tan \frac{\pi}{r} = -\sqrt{r}}$$

(✓) ✓

$$\Delta n = \frac{\Delta \pi}{1r} - \frac{\pi}{1r} = \frac{\epsilon \pi}{1r} = \frac{\pi}{r}$$

-d

$$m(\cos m - \sin m) - r\sqrt{r} \sin r n = \sqrt{r} \Rightarrow \cos\left(n + \frac{\pi}{r}\right) = \frac{1}{\sqrt{r}}$$

$$(i) \cos \frac{\pi}{r} \cos m - \sin \frac{\pi}{r} \sin m = \frac{1}{\sqrt{r}} \quad \frac{1}{\sqrt{r}} (\cos m - \sin m) = \frac{1}{\sqrt{r}} \quad (\cos m - \sin m) = \frac{1}{\sqrt{r}} \times \frac{\sqrt{r}}{1} =$$

$$\cos m - \sin m = \frac{\sqrt{r}}{\sqrt{r}} = \frac{\sqrt{r}}{r} \quad (\cos m - \sin m)^2 = \left(\frac{\sqrt{r}}{r}\right)^2$$

$$(r) m(\cos m - \sin m) - r\sqrt{r} \sin r n = \sqrt{r} \quad m\left(\frac{\sqrt{r}}{r}\right) - r\sqrt{r} \sin r n = \sqrt{r} \quad \frac{m}{r} - r \sin r n = 1$$

(1, r)

$$-r \sin r n = r - m \quad \sin r n = \frac{m-r}{r} \quad -1 \leq \frac{m-r}{r} \leq 1 \quad -r \leq m-r \leq r \quad -4 \leq m \leq 12 \quad m \in [-4, 12]$$

$$\frac{m}{r} - 1 = 1 \quad m = 4$$

-c

$$\cos\left(n + \frac{\pi}{r}\right) \cos\left(n - \frac{\pi}{r}\right) = 1 \quad n \in [0, 2\pi]$$

$$\cos x = \cos -n$$

$$\sin\left(n + \frac{\pi}{r}\right) = 1 \quad \sin\left(n + \frac{\pi}{r}\right) = \pm 1$$

$$\cos\left(n - \frac{\pi}{r}\right) = \cos\left(\frac{\pi}{r} - n\right) = \sin\left(n + \frac{\pi}{r}\right)$$

$$n + \frac{\pi}{r} = r k \pi \pm \frac{\pi}{r}$$

$$n = r k \pi + \frac{\pi}{r} \pm \frac{\pi}{r}$$

$$\left\{ \frac{r\pi}{r} \right\} \quad \frac{0}{r}$$

$$\boxed{0, 4\pi}$$

(1, 0) ✓

$$n = r k \pi - \frac{\pi}{r} \pm \frac{\pi}{r}$$

$$\left\{ \frac{1+\pi}{r} \right\} \quad \frac{r\pi}{r}$$

$$\sin m \sqrt{r} \cos x = \sqrt{r} \quad n \in [-\pi, r\pi]$$

$$r \sin\left(n + \frac{\pi}{r}\right) \cdot \sqrt{r} \quad \sin\left(n + \frac{\pi}{r}\right) = \frac{\sqrt{r}}{r}$$

(✓) ✓

$$\boxed{-\frac{\pi}{1r} + \frac{r\pi}{1r} + \frac{\Delta \pi}{1r} = \frac{r\sqrt{r}\pi}{1r}, \frac{9\pi}{8}}$$

$$n + \frac{\pi}{r} = r k \pi + \frac{\pi}{r}$$

$$n = r k \pi + \frac{\pi}{r} - \frac{\pi}{r} \Rightarrow n = r k \pi - \frac{\pi}{r} \quad n_1 \left\{ -\frac{\pi}{1r}, \frac{r\sqrt{r}\pi}{1r} \right\}$$

$$n + \frac{\pi}{r} = r k \pi + \pi - \frac{\pi}{r}$$

$$n = r k \pi + \pi - \frac{\pi}{r} - \frac{\pi}{r} \Rightarrow n = r k \pi + \pi - \frac{2\pi}{r} \quad n_2 \left\{ \frac{\Delta \pi}{1r} \right\}$$

-v

$$r \sin \alpha \sin \left(\frac{k\pi}{r} - \alpha \right) = 1 \quad -r(r \sin \alpha \cos \alpha) = 1 \quad \sin \alpha \cos \alpha = -\frac{1}{r} \quad r\alpha = k\pi - \frac{\pi}{4} \quad r\alpha = k\pi + \pi + \frac{\pi}{4}$$

$$n = k\pi - \frac{\pi}{4} \quad m = \left\{ \frac{11\pi}{12}, \frac{19\pi}{12} \right\}$$

$$n = k\pi + \frac{\pi}{4} + \frac{\pi}{12} \quad m = \left\{ \frac{5\pi}{12}, \frac{13\pi}{12} \right\}$$

$$\left\{ \frac{11\pi}{12} + \frac{19\pi}{12} + \frac{5\pi}{12} + \frac{13\pi}{12} = \frac{40\pi}{12} = 10\pi \right\} = 4a$$

(1, 10)

$$(1 + \cos(r\alpha))(1 + \cos(\epsilon\alpha))(1 + \cos(\lambda\alpha)) = \frac{1}{\lambda}$$

$$(r \cos^r \alpha)(r \cos^r \epsilon\alpha)(r \cos^r \lambda\alpha) \times \frac{-\sin^r \alpha}{-\sin^r \alpha} = \frac{1}{r} (\sin^r \alpha \times r \cos^r \alpha) \times r \cos^r \epsilon\alpha = \frac{1}{\lambda} \frac{-\sin^r \alpha}{-\sin^r \alpha} = \frac{1}{\lambda}$$

$$\frac{-\sin^r \lambda\alpha}{-\sin^r \alpha} = 1 \quad \frac{\sin \lambda\alpha}{\sin \alpha} = \pm 1 \quad \sin \lambda\alpha = \pm \sin \alpha \quad \lambda\alpha = k\pi \pm \alpha$$

$$\max A = \frac{\lambda a}{a}$$

(1)

$$\lambda\alpha = k\pi + \alpha \quad \forall \alpha = k\pi \quad \alpha = \frac{k\pi}{\lambda}$$

$$\lambda\alpha = k\pi - \alpha \quad \alpha = k\pi \quad \alpha = \frac{k\pi}{\lambda}$$

$$\lambda\alpha = k\pi + \alpha - \alpha$$

$$\lambda\alpha = k\pi + (\alpha - \alpha)$$

$$\frac{k\pi + \alpha}{\alpha} = \frac{k\pi + \alpha}{\alpha} \quad k_{\max} = a$$

$$\tan(r\alpha) \tan(n) = 1 \quad \tan r\alpha = \cot n \quad \tan r\alpha = \tan \left(\frac{\pi}{2} - n \right)$$

$$r\alpha = k\pi + \frac{\pi}{2} - n \quad r\alpha = k\pi + \frac{\pi}{2} \quad n = \frac{k\pi}{r} + \frac{\pi}{2}$$

$$n = \left[\frac{a\pi}{\lambda} \right]$$

$$\frac{k}{a} \mid \frac{f}{a} \quad \frac{a}{a} + \frac{1a}{a} + \frac{1a}{a} + \frac{1a}{a} = 4a$$

(1)